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(cosa)? + (sina)® = 1
1
1+ (tana)? = (cosa)?
sin(—a) = —sina
cos(—a) = cosa
tan(—a) = —tana
sin(90° £ o) = cosa
cos(90° £ ) = Fsina
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sin(a £ 3) = sinacosf £ cosasin



cos(a £ 3)

tan(a £+ 5
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cos o cos B F sin acsin 3

tan a + tan 3
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sin(2a)
cos(2a)

tan(2«)
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sin(3a)

cos(3a)

tan(3a)
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sin o & sin 3
cos « + cos 3

cos o — cos (3

1 Ftanatan 3

2 sin a cos o

(cos a)? — (sin a)?
2tan«

1 — (tan «)?

3sina — 4(sin a)?

4(cos a)® — 3cosa

3tan o — (tan a)?

1 — 3(tan «v)?

1 —cosa
2
1+ cos «

2
1 —cosa

1+ cosa

atf aFf
COSs 9

a+ 3 a—pf

coS
2 2

+ 5

2sin

2 cos

sin

—2sin
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sinacos 3 = ;{Sin(oz + ) +sin(a — B)}
cosasin3 = ;{sin(oz + 3) —sin(a — §)}
cosacos 3 = ;{cos(a + f3) + cos(a — B) }

sinasinf = —;{cos(a + ) — cos(a — 3)}
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a+f . B+v . v7+a
Sin Sin
2 2 2
atfB fB+7 y+a
COSs COS
2 2 2

sina +sin 3 +siny —sin(a + f+7v) = 4sin

cosa + cos 3+ cosy —cos(a+ B+7) = 4cos
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[A=a0/B=p0/C=~ (a+f+~v=180° a>003>00y>0)00000

sina+sin 3 +siny = 4cosZcos§cosg

cosa + cosf + cosy = 1—|—élsinzzsingsinf2y
tana +tan f +tany = tanatan(tan-y
(sin a)? + (sin B)? + (sinv)?
(cosa)? + (cos 3)? 4 (cosy)? = 1 —2cosacosBcosy
sin(2a) + sin(203) + sin(2y) = 4sinasin Fsiny
cos(2a) + cos(2/3) + cos(2y) = —1—4cosacos[Fcosy

= 2+ 2cosacos[3cosy
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50 _ OA+ 0B +0C

3
57 _ |BC|-OA+|CA|-OB +|4B|-OC
[AB| +[BC| +|CA
(sin a)O—/i + (sin ﬁ)O-B) + (sin 'y)O—CY
sin « 4 sin 3 + sin 7y
57 {Qn(Z&)}EiZ—%{sHKZﬁ)}Cﬁ?%—{SHN27)}CR?
sin(2a) + sin(25) + sin(27)
ol (tan a)m + (tan 5)0? + (tan 7)072’

tan o + tan 3 + tan -y
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57 _ sOA +tOB + uOC

s+t+u
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